



St. Louis County, Minnesota

Date of Report: 5/6/2025 5:11:02 PM

General Details

Parcel ID: 141-0040-02032 Document: Abstract - 01204122

Document Date: 12/13/2012

Legal Description Details

Plat Name: HIBBING

> **Township** Range Lot **Block** 11 21

56

Description: NLY 247.5 FT OF SW1/4 OF NE1/4

Taxpayer Details

Taxpayer Name BAUCOM ELIZABETH A & CHAD M

and Address: 3240 ANDERSON ROAD

HIBBING MN 55746

Owner Details

BAUCOM CHAD M **Owner Name** Owner Name **BAUCOM ELIZABETH A**

Payable 2025 Tax Summary

2025 - Net Tax \$6,218.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$6,218.00

Current Tax Due (as of 5/5/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$3,109.00	2025 - 2nd Half Tax	\$3,109.00	2025 - 1st Half Tax Due	\$3,109.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$3,109.00	
2025 - 1st Half Due	\$3,109.00	2025 - 2nd Half Due	\$3,109.00	2025 - Total Due	\$6,218.00	

Parcel Details

Property Address: 3240 ANDERSON RD, HIBBING MN

School District: 701 Tax Increment District:

Property/Homesteader: BAUCOM, ELIZABETH & CHAD

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$30,000	\$372,700	\$402,700	\$0	\$0	-	
Total:		\$30,000	\$372,700	\$402,700	\$0	\$0	3924	





St. Louis County, Minnesota

Date of Report: 5/6/2025 5:11:02 PM

Land Details

Deeded Acres: 7.51 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc:	S - ON-SITE SANITA	ARY SYSTI	EM				
ot Width:	0.00						
ot Depth:	0.00						
The dimensions shown are nattps://apps.stlouiscountymn.	ot guaranteed to be survenged, gov/webPlatsIframe/frmF	ey quality. <i>P</i>	Additional lot Up.aspx. If t	t information can be here are any questi	e found at ions, please email PropertyT	ax@stlouiscountymn.gov.	
		Improve	ment 1 D	etails (HOUSE)		
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
HOUSE	1983	1,040		1,040	AVG Quality / 780 Ft ²	RAM - RAMBL/RNC	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	26	40	1,040	WALKOUT BA	SEMENT	
DK	1	7	12	84	POST ON G	ROUND	
DK	1	7	28	196	POST ON G	ROUND	
Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC	
2.0 BATHS	2 BEDROOMS		4 ROO	MS	0 C	&AIR_COND, PROPANE	
	ı	mproven	nent 2 De	tails (30X36 De	G)		
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
GARAGE	2001	1,08	30	1,080	-	DETACHED	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	30	36	1,080	-		
WIG	0	11	14	154	-		
	In	nprovem	ent 3 Det	ails (GAR 18X	28)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
GARAGE	2005	50	4	504	-	DETACHED	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	18	28	504	-		
	Im	proveme	ent 4 Deta	ails (SLAB PAT	ΠΟ)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
	2008	44	0	440	-	PLN - PLAIN SLAB	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	0	0	440	-		
•	lm	proveme	ent 5 Deta	ails (SLAB PA1	ΠΟ)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
	0	1,26	60	1,260	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	0	35	36	1,260	-		





St. Louis County, Minnesota

Date of Report: 5/6/2025 5:11:02 PM

		Improvem	ent 6 Details (BACK YARD)					
Improvement Ty	pe Year Built	Main Flo				Style	Code & Desc.		
LEAN TO 1991			160 160		-		-		
Segment Story			Length Area Foundation						
BAS		4	8	32	POST ON (
BAS	5 1 	8	16	128	POST ON GROUND				
		Improvem	ent 7 Details (NEW 40X72)					
Improvement Ty	pe Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ²		Basement Finish Style Code & De		Code & Desc.		
POLE BUILDING	2016	2,8	2,880 2,880						
Segme		y Width	Length	Area	Foundation				
BAS	5 1	40	40 72 2,880 FLOATING SLAB						
		Sales Reported	to the St. Lou	is County Aud	itor				
S	ale Date		Purchase Price	•	CR	RV Number			
()4/2008		\$186,000			181833			
(05/1993		\$65,000 91754						
		A	ssessment His	story					
	Class				Def	Def	N		
Year	Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity		
	201	\$31,900	\$386,100	\$418,000	\$0	\$0	-		
2024 Payable 2025	Total	\$31,900	\$386,100	\$418,000	\$0	\$0	4,091.00		
	201	\$29,900	\$268,000	\$297,900	\$0	\$0	-		
2023 Payable 2024	233	\$3,300	\$89,900	\$93,200	\$0	\$0	-		
2020 1 dyddio 202 1	Total	\$33,200	\$357,900	\$391,100	\$0	\$0	4,273.00		
	201	\$25,700	\$190,900	\$216,600	\$0	\$0	-		
2022 Payable 2023	233	\$2,900	\$64,100	\$67,000	\$0	\$0	-		
	Total	\$28,600	\$255,000	\$283,600	\$0	\$0	2,994.00		
	201	\$23,900	\$161,900	\$185,800	\$0	\$0	-		
2021 Payable 2022	233	\$2,700	\$54,300	\$57,000	\$0	\$0	-		
20211 ayable 2022	Total	\$26,600	\$216,200	\$242,800	\$0	\$0	2,508.00		
			 Гах Detail Hist				,		
				OI y					
Total Tax & Special Special Taxable Building									
Tax Year	Tax	Assessments	Assessments	Taxable Land			tal Taxable MV		
2024	\$6,302.00	\$0.00	\$6,302.00	\$32,153	\$348,51	\$348,518			
2023	\$5,054.00	\$0.00	\$5,054.00	\$26,494	\$239,36	60	\$265,854		
2022	\$4,338.00	\$0.00	\$4,338.00	\$23,961	\$198,32	21	\$222,282		





St. Louis County, Minnesota

Date of Report: 5/6/2025 5:11:02 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.